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RDETOAT T L%, BITOEKRE HOBEELUENSETLT, FEHR
ZUAR—DMIZEEH X ZITHOVWONSMSIEERDEARNZE DN
5, INoETDEMELUEZD Z TCROBEIED Z &.

OS54 1 (PUEIEE)

10 rem rem input print + - * /, end =
20 rem four rule

30 input a,b

40 print a,b

50 c=atb

60 d=a-b

70 e=axb

80 f=a/b

90 print c,d,e,f

100 end

FAT D DIREIRIE

10, 20 VERX. 707 J LMTIFEEL

30 Z# a,b Z AJ1E L& WS ma

40 ZH a,b ODNAEZHEME LIZRRE L WS s
50a & b D% c IZR/ARI VWS @%

60a & b D&EZ A IZRAEI VS @%

70a & b DfZ e ITRARLEVWS @5

80a & bDix £ IZRAFLEVWS @s



7007 4L 2 (5“ n}uJ}JAJ})

ROTAT T LTIE a$, b$, c$, d$ 1THUETIXA K TXFH % G A
OEBTH 5. ﬁﬁ%m SUEEY &abcda®7m77A&wf®m
DTN DEWE IR

10 rem read data restor
20 rem character data
30 read a,b,c,d

40 print a,b,c,d

50 print at+b,c-d

60 print

70 restore

80 read a,b,c,d

90 print a,b,c,d

100 print a+b,c+d

110 end

120 data 1,2.345,-1,-2.345

EATOERIL
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30 120 17 data A FOEEUEE 2 a,b,c,d (25
70 FHE data A N2 AALHEFEZE L WO @a



OS5 3 (—DODEDIEL)
N IZhRZ 2 W TEIT L TA K.

~

10 rem for to step next input " " ;
20 rem for next

30 input "input N";N

40 print N

50 s=0

60 for i=1 to N step 2

70 s=s+i"2

80 print 1i,s

90 next 1

100 end

RO B &

input "input N";N &FHL &FEFLAE E 7 TIERL input N? &
Hhxnag., [Mz2 ANEDPDEELIICEEVE EFEHAITNIEI V.
FE W TFFNE & THE.

50 s=0 I\ o 7zA s 120 ZIRAT 5.

60 for i=1 to N step 2 X 90 next i LHlAGLETHS. B i
M1A26NET2HTHEIC. step 32T HL 35, step ZHMK
THE 1IHELIZKRS.

70 i° 20X i DZFEE VIR, i° 3 EC L i D3FETT, s=s+i”
21 siZi~ 22 MA-ED%E s LEZIELTWAZ L.

WoT 101775 0 fTT 1MW NEFTOHFHEEFH LZD2FEDOM%
RKOTWBZ LTk,



TOVZ 4L 4 (ZODEVIKEL)
ROTOAT T LW %TE5T0T T LTHAIDPELVER-MIELD XK.

10 rem triple for next

20 rem binary-decimal transformation
30 print "binary",'"decimal"
40 for 1 = 0 to 1

50 for j 0 to1l

60 for k = 0 to 1

70 1 = 272%i+2xj+k

80 print 1i;j;k,1

90 next k

100 next j

110 next i

120 end



TOU5 L5 (GRMAHIEHEDIRL)

0 REM let while wend print ; < > do loop until
10 REM Test WHILE-WEND LOOP

20 PRINT "START"

30 LET X = 0

40 WHILE X < 7

50 PRINT "x is ";X

60 LET X = X + 1

120 WEND

130 PRINT "WHILE-WEND LOOP END"
140 REM Test DO LOOP-UNTIL

150 PRINT "START"

160 I=0

170 DO

180 I=I+2

190 PRINT "i is";I

200 LOOP UNTIL I>7

210 PRINT "DO LOOP-UNTIL END"

WE FE TIEHIENLFETURED, BAXFTEHEWTE2EDAR W, HU
Basic IZ & > TIEAXFE/NXTFRXANTEH2ED0EH D FITOTHEN

40 WHILE X < 7 & 7047H® WEND Zfl& UTHEHT 5. ERIZ X <
7 CTHLHRED WEND O —DHIDfTE TR OIKT.

170 DO & 20047H ® LOOP UNTIL Z#fl& U THiHT 5. Bk 1>7 1
7% £ T LOOP UNTIL OHEFTD—DOHDITE TRV KT, L%
BiZbHBOTAHRL L —HITEfTFEINS.
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Zo7a s I LIl OHDANT—XD A NI T L%EEL.

10 rem dim ( ) tab( )

20 rem histogram

30 dim d(10)

40 for i=1 to 10

50 input d(i)

60 next 1i

70 for i=1 to 10

80 n=d(i)

90 sg=""

100 for j=1 ton

110 s$=s$+"x"

120 next j

130 print tab(2);i;tab(6);n;
140 print tab(12);s$
150 next i

160 end

30 dim d(10) Td(1),d(2),...,d(10) L WO EHPHER B LS ICEET
5.

90 s$="" X s$ ITffHRVFH] (Z8) ZRALTWVWS.

110 s$=s$+"x" |L s$ IZXFHE L T*ZNMA-E D% s$ LESEL
TW5,

130 tab(2) XEHE 2D B2 WS T L.

80 725 110 17 TIE 8§ 1X*H3 (1) [ HHrwwicioltt DEEIIBIZ 72 5 T
WBZ R bnrsb.



TO7 5 L7 (ZRITES)
RDODTa 7T hiFa N (mAKLOAN) OADPIBIHZERL L DA
DG ERIHDOEFIZOWTH 1T 5.

10 rem dim ( , )

20 rem array

30 dim K(10,3)

40 input n

50 for i =1 ton

60 input K(i,1),K(i,2),K(i,3)
70 next 1

80 print "no","heikin";

90 print "1","2","3"

100 for i=1 to n

1101 =0

120 for j=1 to 3

130 1 = 1+K(i,j)

140 next j

150 h = 1/3

160 print i,h,K(i,1),K(i,2),K(i,3)
170 next i 180 print "kamoku';
190 print "heikin"

200 for j 1 to 3

2101 =0

220 for 1 1 ton

230 1 = 1+K(i,j)

240 next i

2560 h = 1/n

260 print j,h

270 next j

280 end

30 dim K(10,3) ¥ K(i,j) (i=1,2,3,...10,j=1,2,3 ) TH5 3 Off
DERIMEZ DL EHIZEZLTWVWA.

50 47/ 5 70 K(i,1) 2’RHE 1 K(i,2) »BIH 2, K(i,3) »FH 3 T
i=1,2,3,...10 FTT—X %2 ANSd. 100 5 170 THEADFEF & X
B g, 200 25 270 TRHDEHEHT.
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10 rem goto if then else sqr
20 rem if statement

30 input a,b,c

40 if a<=0 then goto 130

50 print

60 print "a,b,c=";a,b,c

70 if a+b<c then goto 80

71 if b+c<a then goto 80

72 if c+a<b then goto 80 else goto 90 80 print "impossible"
85 goto 30

90 t=.5x*(atb+c)

100 s=sqr(t*(t-a)*(t-b)*(t-c))
110 print s

120 goto 30

130 end

40 if a<=0 then goto 130 IF"HL L a 71 0 AR TH S & ZiX then
UFEFEFEEL, £ TRIFNIEROITIZITII L WS EE. goto 130
SR B0THIA AT E WS 28 o TIZDL0THIF"E L a0 LT
TH5HEEZIF130/THIZTT WD Z &Ik, 7ar I LIk TT 5.

a>=0 X a3 0 A ERFET.

70 D25 T2 X EEDFEDNS abc BRI E-ODRMEF oy o
LTWBbZElZhb.

85 goto 30 “MAEIMELNRVWE ZIEH S —E a,b,c DANIZKES.

90 t=.5%(at+b+c) @ .5 1% 0.5 DH.

100 s=sqr(t*(t-a)*(t-b)*(t-c)) D sqr I () DHDFEHRDEE.
#EoT 90 25 100 TEABVYORAXTEMAEOHEIBEZ KD TNVWE I &
278 5%.



TATIL9 (BTN —T 1)

Ay 70V —T 4 VOEETHS. YITNV—FViEHsTus 7 L0HT
AESHEONZRED—BEDH W2 £ LD TE->THE, &
B UCIFOH L THWS., RO T2 T LIE 2 RABRRD=2Df%
B oa,b,c ZANT, HHRZHBE U CEBRZEOLAICZTDOREZEE,
HFERZFFD L Z X complex root & HJ1T 5.

10 rem gosub return -1x*
20 rem subroutine

30 input a,b,c

40 if a=0 then goto 220
50 print a,b,c

60 gosub 180

70 if d<O then goto 80 else goto 100
80 print "complex root"
90 goto 30

100 y=sqr(d)/a2

110 z=x+y

120 print z

130 z=x-y

140 print z

150 print

170 goto 30

180 a2=2xa

190 x=-1%b/a2

200 d=b"2-4x*axc

210 return

220 end

60 gosub 180 T 180 fTHIZATE, 180-200 (Z DIV TV —F 1
V) BFETTS. LT, ROITD return IZH25 &, 6017H (gosub
D BLT) DRD T0ITHDRENIZRES. gosub & return (& Z OFRIZHLIZ U
THWE T,

190 x=-1%b/a2 I¥b/a2 D F %2 A Z7-H D. D basic program Tl
-b/a2 ¢ EFEL I EH B, FAZDbasic TlE-b/a2 L EFEL LT T —D4EU
ETOTHERT S L (ERIZHBNTHE»D L) .
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0 rem on n goto on n gosub return
10 rem Test ON...GOTO Statement
20 input "Enter a number 1-3:";n
30 on n goto 40, 60, 80
40 print "end program"
50 goto 150
60 print "next test"
70 goto 100
80 print "once more test"
90 goto 20
100 print "ON...GOTO end"
110 rem Test ON..GOSUB Statement
120 input "Enter a number 1-2";n
130 on n gosub 160, 180
140 print "ON..GOSUB END"
150 end
160 print "You entered 1"
170 return
180 print "You entered 2"
190 return

20 input "Enter a number 1-3:";n Tn il 1,23 DWTNh%E AN
5.

30 on n goto 40, 60, 80 TIXI o T ANZEDHFZIT L DT &N
s, BARIZIZ1IDE Z40T7H20EZ6047H,3 DL X 8017HIC
T&. ZOIT 1 65FEITT 5. on & goto ZALIZL THWA.

120 input "Enter a number 1-2";n TniZ12DWI L% ANS.

130 on n gosub 160, 180 TIE I > X ANZZDHEFIT L DTSN
5. BEWIZIF 1O Z160/7H2 DL Z 180 fTHIZITE, £ DT
MOFETT B, HfRIZ return IZHE 5725 on gosub D dH B RDITIZIRE
%. on gosub & return ZAMIZL THWS.
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FLAGA AR L BBOEHRD T 1 J T LD

60 REM abs atn cos log sin tan sgn int exp rnd def fn
70 REM

80 REM VALUE OF SOME FUNCTION

90 INPUT "POSITIVE NUMBER X";X

100 PRINT "ABS(-X): "; ABS(-1x%X)
110 PRINT "ATN(-X): "; ATN(-1x*X)
120 PRINT "COS(-X): "; COS(-1%X)
130 PRINT "LOG(X): "; LOG(X)

140 PRINT "SIN(-X): "; SIN(-1x%X)
150 PRINT "SQR(X): "; SQR(X)

160 PRINT "TAN(-X): "; TAN(-1%X)
170 PRINT "SGN(-X): "; SGN(-1*X)
180 PRINT "INT(-X): "; INT(-1%X)
190 PRINT "EXP(-X): "; EXP(-1x%X)
200 PRINT "RND(-X): "; RND(-1%X)

210 REM DEFINE FUNCTION
220 INPUT "A,B";A,B

220 DEF FNADD( X, Y ) = X+Y

230 DEF FNHYPS( X ) = (EXP(X)-EXP(-1%X))/2
240 PRINT "A+B=";FNADD( A, B)

250 PRINT "HYPSIN(A)=";FNHYPS( A )

500 END

F<KHWS N EHMARADEEZ AN IZENTEH L.
100 ABS(-1%X) I&-1%X DI,
110 ATN(-1*X) Z-1xX D tan D BIHL,
120 COS(-1*X) [F-1xX D cos,
130 LOG(X) X D log,
140 SIN(-1X) & -1xX @ sin,

150 SQR(X) X X DEHI,



160 TAN(-1%X) lX-1%X @ tan,

170 SGN(-1xX) lI-1xX DIETH NI 1, ATHNIE-1,0 THNIF0,
180 INT(-1%X) I¥-1xX DL,

190 EXP(-1%X) I¥-1xX DFEEEA%K,

200 RND(-1xX) Ik -1*X OEDTELE D% KT .

220-250 IZF/ED OB DIED fi% =T

220:DEF FNADD( X, Y ) = X+Y TFNADD( X, Y ) &\ 5% % X+Y
TEHL TS,

230:DEF FNHYPS( X ) = (EXP(X)-EXP(-1*X))/2 T FNHYPS( X ) &
WO B Z AL TEHZLTWA. - T hyperbolic sin Z &L TW5Z
bl A

TEO O ZEFHE T D & EIZIX DEF FN. .. DEIZEER D4R DB
IEFN £ 95LD12352 L.
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REDEEFE LT, N ETOEKE TV NTETUTILTHS. ¥
S U TEBDPERSI NS A TEFTHZ L.

10 rem mod

20 rem prime number

30 DIM A(200)

40 print

50 N=200

60 for i=2 to N

70 A(i)=1

80 next 1

90 for i=2 to SQR(N)

100 for j=i+1l to N

110 if (j mod 1)=0 then A(j)=0
120 next j

130 next i1

150 for i=2 to N

160 if A(i)=1 then print i;
170 next 1

180 print

190 end

60-80 T A(i) 21 Z2fRAT 5.

110 if (j mod i)=0 then A(j)=0 IZHNTWD jmod i X jZ& i
TE|->7-RDERT. foT 110X H L jA i TEHOYNZE 2 5IXAG)
WZO0ZRARL EWVWS@HIZR5.

PAERS AG) B2 LD TEINTZS A(G)=0 LT E2DITE1r, Z
Nz IBERIE jRRBO L ST AG)=1, £S5 THRITNIFAG)=0 &7 5.

150-190 TA{)=1 D& EDi%2 7)Y v bT 5.



